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For each question from 1 to 30, four optlons are given. One of them is the correct

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,3 0r4)onthe
Optical Answer Sheet.

1 The diagram below shows thé life cycle of an‘énimal-

Egg

Adult .Nymph

~_

Which of the following animals goes through the life cycle as shown above?

A:  Frog

B: Mealworm Beelle
C: Cockcroach

D: Grasshopper

(1') A oniy (2) B only
(3) BandDonly 4y C andDonly

| 2  The table below compares the life cycle of the butterfly and that of the mosquito.

. . Butterfly Mosquito
A | 4 stages infife cycle _ v \l
B | Lays eggs indark places . J N
C | The young resembles the adult X X
D | ltis a pest during the larval stage X Y
Which of the following comparisons are cofrect?
{(1) AandBonly (2) AandC only

(3) BandConly (4) Cand D only
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Which one of the following shows the correct order of stages and processes in
the life cycle of a flowenng plant?

(1)

Fértilisation

(2)
, \iirmination Gemination

(4) |

&)

Fertilisation
rmmatnon

Young plant \ ,
Adutlt Germmatlon
plant

4 The table below shows the classification of animals.

Aﬁimals j

I

Fertilisation

Insects | Birds _- Fish | Mammals -
/ =%
Adult . Young

Which group of animals may not have a similar life cycle as shown above?

(1) Insects (2) Birds
(3) Fish (4) Mammals
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The:follmrving table provides information on 4 animais. E, F, Gand H, based

on two characteristics. A tick (Y) shows that the animal has the
characteristics.

\Aim'alls\ E | F G H
Characteristics _ .

Herbivore v ’ N
Liveoniand = ) N

From the information above, where will you put Animal E ,F, G and H in the
following classification table below?

Animals
\
Herbivores Carnivores
PN 7 AN

Live on Land Live in Water Live on Land Live in Water

AnimalE | AnimalF Animal G “Animal H
ol N e | O
ol A O
®) | <> A
o| O 1D /\




Rosyth School/ Continuous Assessment 1/ Standard Science/ P6/2011

The diagram below shows a developmg baby in a woran's body Pis pari of
the reproduot:ve system.

"Which other system can part P belong to?

(1)  Digestive System (2) Skeletal System
(3) Muscular System (4) Circulatory System

The diagram below shows 2 human reproductive system.

Which part of the above reproductive system produce egg cells?

O (2) B
@ C 4 D
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8 The graph below shows the changes the uterus undergoes over a
period of time.

B C

Thickness of the
uterus lining

7 14 21 28 Days

At which point of the graph (A, B, C or D), the body has identified that
egg is not fertilised? )

1 A 2 B
3y C 4 D

9 The boxes below describe the characteristics of a family.

Mr Tan Mrs Tan
- has thin lips . - has thick lips
- has short hair - has long hair
- - has double eyelid" _ - has single eyelid
- has attached earlobes , - has detached earlobes
Wei Ling
- has thin lips

- has long hair
- has single eyelid o
-'has detached earlobes

Which of the following characteristics did Wei Ling inherit from her
mother?

(1)  Single eyelid and long hair

(2) Singie eyelid and detached earlobes
(3) Detached eariobes and long hair

(4) Detached earlobes and thick lips
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The diagram below shows the fruit of some plants.

How are fruits, A and B dispersed?

Sweet énd
fleshy

A B
(1) Wind Animals
(2) Animals Wind
(3) Animals Splitting Action
(4) Splitting Action Animals

Four set-ups, A, B, C and D were prepared using similar types of seeds with
different conditions as shown in the tabie below.

WOe ot Gha iy

e WY

Set-up | Type of Cotton Where it is placed
- Wool :
A .moist in the freezer
B moist near an open window -
-C Moist Dy in-a-clesed-cabinet-
D Dry ‘near an.open window

Which set-up should Janet use as a control if she wanted to test if seeds
need warmth to germinate?

)
®)

A
C

() B
4 D
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12 Ali planted same types of seeds in the two containers as'shown below.

13-

X X X XXX
X X X XXX
X X. X—T— seeds <“—T—XXX
X X X XXX
- Pot A , Pot B

Which variable in the above set-up is being investigated?
A Amount of air

B: Amount of space
C: Number of seeds

(1) Aonly (2) Bonly
(3) AandB only (4) Band C only

Study the flow chart below. It shaws the characteristics of different plants,
E, F, Gand H.

Does it have a - Y
. | hard outer Are its fruits e E
Start covering? ﬂeshy‘? o
Here

Yes- -
. — Does it have Yes
[ Is it pOd-“kej [ stiff hairs?
" Yes | : No
- Does it have Y
wing-like =
structure?

Based on the flow chart, which of the following young plant is the most likely to
grow near its parent plant?

(1) E @ F
@) G 4y H
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14  Ali carried out the following steps.

Step | Action taken

Filled two flower pots.of same sizes with the same amount of garden soil

Planted same number of fwo.types of bean seeds in each pot

BN~

Placed all the pots in the garden

Poured 25mt of water in each pot daily

Which of the following could be the aim of Ali's experiment?
It is to find out if

(1) . sunlight affects the growth of the plants

(2) garden soil affects the growth of the plants

(3) types of beans affect the growth of the plants
(4) amount of water affects the growth of the plants

16  Various parts of a hibiscus plant were removed in an experiment as shown in
the table below. ‘

Group . Parts removed
W ' Petals only
X . - Stigmas only
Y Anthers only
Z ' __Ouvules only

Pollen grains from an intact flower were collected and dusted on the remaining
partts of the four groups of flowers.

in which group(s) of flowers will the process of fedtilisation take place?

(1)  Wonly (2) Xand Zonly
(3) Wand Y only (4) W, Xand Z only
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16 The diagram below shows a concept map.

Living Things

are made of
: - canbe | Cells . canbe ] - :
Animaf Cetls |* _ - Plant Cefls
trave uhdergo have
kg
that controls B . that controls
A _ - ' : A
ﬁew cells
for .ll.
_ srowtﬁ C
Which of the following best represents A and B and C?
A, ) B | C
(1) cytoplasm _ respiration repair
2) cell membrane movément of substances reproduction
3) vacuole ' - fertilisation continuity of life
{4) nucleus cell division. replacement
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The-diagram below shows the human digestive system.

in which of the following parts, A, B, C, D, E and F are diéestive juices
added?

(1) A.CandEonly (2) A, DandE only
(3) B,Dand Eonly (4) D,EandF only

Which of the following factors allow the water cycle to take place? .

A: Water has a deﬁnite volume.

B: Waler can evaporate at any temperature.
C: Water can change from one state to another.

(1) AandBonly (2) BandConly
(3) AandConly (4 ABandC*-

Which is the correct order of events that show how defore_stat‘idn leads to
water pollution?

A:. Rain falls to the ground.

. B: The trees of the forest.are cut down.

C: The roots of the trees no tonger have a firm grip on the soil.
D: The loose soit gets washed away into a nearby body of water.

(1) A—D — B—C 2 D—*C —*A—*8B
3 C—B—» A—+D (4 B—»C —»A_>D
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The graphs below show the changes ‘in the temperature of water.
Which graph shows water in all three states?

)] A (2) 1;
100 — 100 —
temperature — temperature —
o) — °o) —
0 > 0 >
(3 Time (min) 4) © 4 Time (min)
* ' 100 —
100 —
temperature —
temperature  — e
0 ] Q)
] 0 >
0 P -

Time (min)

Felix wanted to find out if temperature affects the rate by which wet towels dry.

Time (min)

He used two towels of the same material. He listed all the other variables that
will affect his experiment as shown below:

A: The amount of water used to _so_ak the towels

B: The size of the towels

C: The places where the towels were hung
D:  The temperature of the surroundings -

Which of the following show the correct choice for his experiment?

_Kept the same va@able

Changed variables

(1)
(2}
3
“4

ABandC D

ABandD C -

ACandD B
A

B.Cand D
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The diagram below shows the three states of water. A B.Cand D represent
four different processes.

Water
vapour

D

water

Cc

A

a5

ice

B

Which one of the following correctly indicates whether heat is gained or lost
-during the processes A, B, C and D?

(1)
)
(3)
(4)

. A B C . D
Heat is lost Heat is gained | Heat is gained | Heat is lost
Heat is lost Heat is gained | Heat is lost Heat is gained
Heat is gained | Heatis fost . Heat is gained |Heatis lost -
Heat is gained | Heat is lost Heat is lost

Heat is gained

The graph below shows how the temperature of two beakers of water, X-and
Y, changes over {ime.

Time (minutes}

Y

Study the graph above carefully. Which one of the following statements
interprets the graph correctly?

(1)
(2)
(3)
(4)

- Beaker X contained less water than Beaker Y.
Both beakers of water boiled at the same time.
Beaker X is a poorer conductor of heat than Beaker.Y.
Beaker Y was heated over a stronger flame than Beaker X.

‘Which of the following can be a part of the water cycle?

A:
B:
C:
D:

(H

@)

melting of snow

sweating of animals )
giving out of water vapour by plants
evaporation of water from rivers

D only
A, C and D only

(2)
(4)

A and C only
A B, CandD
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Chris prepared two cups, P and Q, of water and then covered them. The
diagram below shows what was-observed after 2 minutes.

- water droplets

styrofoam styrofoam

metal cover

—water water

-CupP Cup Q

Which one-of the following shows the likely temperatures of water in cups P
and Q7 ' ' '

CupP (°C) . ‘ ~Cup Q (°C)
(1) 30 - 30
() 5 . 70
(3) —_ 70 ' 5
(4) 70 _ 70

Peter wanted to test the accuracy of his. digital thermometer. He put his
thermometer in a beaker of melting ice. The reading on his thermometer was
3.2°C as shown in the diagram below.

(o

thermometer

iIce

“He then measured the temperature in his refrig'erator. The thermometer

reading showed 6.8°C.

What is the actual temperature in the refrigerator?

(1) o°C 2) 38°C
@) 6.8°C (4 10.0°C
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27 Janet made a hypothesis that there are particles in a garden soil which are
soluble in water.

She carried out the following steps for her investigation:

mixture of soil
and water

tap water
R S

\/

warming plate

fine filter

200miof .
water

_ _Slteg' 1. Ste_g 2 Stepl 3

Step 1: She mixed a spoonful of soil from her garden into a beaker
containing 200ml of water from the tap to obtain a mixture.

Step 2: She filtered the mixture through a fine fi lter to obtain the filtrate.

Step 3: She evaporated the ﬁltrate in beaker X and a similar amount of tap
water in beaker Y.

What would Janet observe in beaker X if her hypothesis was correct and the
purpose of tap water in Beaker Y?

Contents in beaker X - Purpose of tap water in Beaker Y
after evaporation
(1) | Nothing . To show that there was no particles that
) » - | were dissolved in tap water - ‘
(2) | small particles -To show that there was no particles that
) were dissolved in tap water

(3) | Nothing To show that tap water evaporate faster
than the filtrate

(4) | small particles To show that tap water evaporate faster
than the filtrate
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Muthi set up the experiment as shown below. He pouréd seme coffee into
the funnel but it did not flow into the bottle. However, when he poured some
tea into the funnél of another set-up; it could flow into the bottle.

funnel

coffee
stopper

botile

_-_ — tea
——— C—-5—
Which one of the following could be the reason for the different results
obtained?

(1)  The coffee was cold but the tea was hot.

(2) The tea is sugar-free but the coffee is not.

(3)  The stopper 6f the bottle containing tea was loose.

4) The tea was poured more quickly than the coffee into the funnel.

Joe conducted an experiment to find out if water or milk is a better
conductor of heat.

ice cube.wrappe_d with fwiré gauze

A piece of ice cube was wrapped in wire gauze and placed at the bottom of
-the test-tube-Next-he put aflame at thetop of the test-tube filled Wwith' water.
He then recorded the time taken for the ice cube to melt completely. The

- experiment was repeated usmg milk.

Which of the following variables must be kept the same for a fair test?
A: size of the ice cube

B: position of the flame applied
C: amount of liquid in the test tube
D: time the flame was left on unti! the ice melted

(1) AandConly ‘ (2) Band D only
(3) A,BandC only (4 A B C,andD
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30 Four beakers cantaining the same amount of water at the same
temperature were placed on electric hot metal plates. The hot plates are all
the same size but are made of four different metals.

water in the -beaker

The time taken for the temperature of the water to increase was recorded as
shown below. Which plate is made of a metal"which'is the poorest

conductor?

Plate Temperature increase |- Time
1) A : 10°C | 100s
) B 12°C : 100s
(3) c 15°C 200s
) D 18°C _ 200s

_End of Booklet A
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" For questions 31 to 44, write your answers in this booklet.

31

(@)

th
(i)

The chart below shows how some living things are classified.

Living Things

y

Does it make
its own food?

Yes

Group A |

No

y

Does it move
from one
place to
another on its
own?

Yes

Based on the information above, write a tiitabls; quesﬁor& for &ahiof

tHeHollowing:

X

Y

Yes

r

No
Yes Group B
X » -Hillisgus’
uehid
Is it warm- N Does it
blooded? O i liveon
land?
Yes ‘
No ;.| GroupD
Y I -Whale .
- Camel
Yes ,me
Y
Group E
- Penguin
- Parrot

Group C
- Lizard
- Snake

(2]

Question 31 is continued on page 2.
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(b) Study the graph below which shows the body temperature of an animal
during different surrounding temperature.

Body Temperature
c) -

| | | -

. .ol

10 20 - 30 40
Surrounding Temperature (°C)




Rosyth school/Continual Asseésment 1/ Standard Science/ P6/2011

32 Melvin carried out an experiment to observe a germmatmg seed as
shown below.

He recorded the mass of the seed leaves and shoot of the seedling in
the table below.

[Results

Day 0 Day2 |Day4 |Day6 |Day8
X 259 209|159 | i1g |69
Y 5g 6g 199 16g | 20g

@

Which results, $$6%% shows fjai the ggass of the
dirEgRbEiexpel

iment® Give a geasan’for your answer.

(b)

possible to tell.

Put a tick (V) in the appropriate box to, md;cate if it is True, False or Not

Statemeh_ts True False Not
' possible
) to tell

()]
i)
(i) Basednon the table above, the

: 39 can @igketsown
(iv) =( a5 will E?uq

ﬁhloro plast tﬁfi‘ﬂke Hood.

(2]
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33 Use the double bubble map to state a §rilarity and a:difference between
repradiictive process in ird andifigman: ' ' 21

.....

Reproduction
in bird

Reproductionl
in Human

Differeqce {1) ' Difference (1)

34 The diagram below shows a flower.

State the functions of thezparts tabelied in the table below.

@ | |Pars [ Function . R | 2]
i oA | !
2 B.
(b) s the above flower fikely to be pallinatéd by animals or wind ?2{Explain your
answer. . {1
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35 The diagram below shows flowers containing nectar and two birds, Y
- and Z with different type of beaks.

Z

(a) Which bird, Y or Z is mme&ske’ly to#eed sonthies aectar of the above
{11

(b)  Explaifihow thedird-youhave chosen in.(a) is ifnpditant to the
flower? (1]

(c) DBeéscribe what Would-happér when poltéfrgraingtlands-on the gtigma:-

(2]
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36. A group of pupils saw a plot of land with some plants gfowiné as shown

below.

After a short time, the grgup of puplls saw the plot of land covered with
the §amestype” df;pian‘fs

Through research, the pupils found that the plant can reproduce in two
ways as shown below.

Seed
N \
Adult ’ Young -
: | Young plant
'\ / Adultplant, | . :
s A E - B
(a) »;Labél the precess fEQl!inat-i‘an’ in the‘xr{reetf.be_)g.forzAz {1

(b) Whichitypeiof; rgaproduchon (A orB), has theﬁant mainly carried outin  [2]
thegbove sitdation? €xslaia your choice.




Rosyth school/Continual Assessment 1/ Standard Science/ P6/2011

37 The diagram below shows the human digestive system.

1

(a)
[1]

(b) @escnbe how our di gesttve system and c]r“ q_l_atory systemwork
Yo gether to &ipply digested food to our Body-parts. (21
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38 Henry was given a cell from affiulticetiular. ergamsm to observe
under the microscope. His teacher told him that & arkof-the-cellhas,
HBecnremoved. o

(a) Which .ggﬁup ol i iingthings was the geil’ftake’nﬁfmm7 Give a reason for
your answer. _ _ (1]

b)  $lamé the partiof the:cell that is-Hiéen rémoved. (1]

33  The diagram shows a solar stili which is used to treat water and make it

drinkable.
dear plastic cover 44
ra v Q
clear — muddy water B dear
, water water
e e
" . Explain how:clean:water isiobtained fromgnuddy: water. 2]
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40  Zhanli used dwoidetiticat-baakees and poured@Bgml of water into

each: beaker. He set up the experiment below at the same place to find

out flovk the eraged ‘Surfadearea of thewater: affect thegate ‘of
gvaporation.

(a)  Explain why the experiment is gat:afair. test.

(1
(b) What set-up could Zhanli use to grisute a fair teste @n&beaket:has
kb‘een ‘drawn in the box below. taw ancther container he gould.use.  [1]
(c) What could he do to Ehoiten: the ttme;,of the'expefiment and getithe
resdlts sdoner? [1]
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41  An experiment for making rain was set up as shown below.

fce cubes

plastic sheet

glass jar
T=5
L\‘i\;%t—{—w_ hot water

Ginny_us_e__d the apparatus to carmry out an experiment to find oufﬁf:%?th_e-
femperaturg-st hotwatermould: affect the-ralérof condensation. :

(a) What was the gifiablechangad? [1]
(b)  What was the yariable-riieasuréd?. [1]

(c) What has tofase heat in order for the¥Pprocess-ef condensation to%ike «
Place? [1]

10
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Some pure water in a beaker was left on a table in a room over a

period of time. The temperature of pure water jnitially was:40°€. The
temperature of water slopped-decteasing-after the:third minute and
@mding st 30°CA heat-Source was Bitiadisced at the §th minute.
The waterbailed- after-heafing-forfour ‘minutes; The heat saurce was
réifioved at the {@2thisminuté. :

[bel the x:axisand domplete the graph untit the 12th mindte. [4]
100 r
80
60
Temperature
(C) 40
\
20
0 'y 2 3 4 5 6 7 % 9 16 1
X-axis:

11
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Mal]one placed a syringe between two pteces of wood. The syringe
contained some water and air trapped in it. Weights were placed on the
top piece of wood as shown in the diagram below.

/ weights

top piece of wood

plunger

rubber plunger tip
air

“water

L . ,_I_____,— bottom piece of wood

Whatappened: to the yolume of-air andgvater in the syringe respectively
when the weights-were placed onthe syringe?. [1]

12 .
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44  Ahmad has four cups which are made of different materials (A, B, C and
D). The cups are of the same size and.thickness. Ahmad then filled each
cup with 280:m of hot coffee. The tempesature of the coffee wasi80C. All,

“four cups were leff'on-the dining. table to.cogliand theigfamperaturesiwere
measured every 2 minutes. -

A

The resuits of the experiment are plotted on the graph below.

A
70
60 :

\
50 \\\\ A
3 S i S
Temperature 40 e \\\\H—L

304 .. D T, et
20
10
0 T—

6 2 4 6 8 10 12 14 16 18
Time (min) ’
(a) Which cup of coffee took the shortest time'to cool to' room temperatite?
’ State' thedire taken: [

(b) Which cup (A, B, C or D) must Ahmad use to gontain:icezcream if he
jdoes not want the ice-cream to meft quickly? £xplain your answer. (1]

End of Paper

13
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EXAM PAPER 2011

31)a)i)Itis a flowering plant?

ii)Does it lay eggs?
b)Group D. It is warm-blooded animal and has a constant temperature.

' 32)a)Res'u!'ts X. As the seedling grows, it takes in more food provided by the seed

leaves, so the mass of the seed leaves will decrease.

b)i)F

iT

iii)T

iv)F

33)Similarity: Both require the fusion of a sperm and an egqg.
Difference 1: Young develops in an egg.
Difference 1: Young develops in female’s body.

34)a)A: Produces pollen grains and stores them in pollen sacs.
B: Receives pollen grains.

b)The flower is likely to be pollinated by wind. The anthers hang out of the flower
for the pollen grains to be carried by the wind and the stigma is large and feathery to

trap pollen grains carried by the wind.

35)a)Its beak is longer t'han Y and can reach inside the flower where the nectar is.
b)As bird Z feeds on the nectar, some pollen Grains will stick to its feathers, and

the pollen grains will be carried away for pollination.

c)The pollen grain will grow a pollen tube which travels down the style to reach
the ovary, where it fertilizes the egg cells in the ovules.

36)a)Pallination.
b)B. They do not need to disperse their seeds, and they grow near to the parent
plant.
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b)The digestive system breaks down food into simpler substance and the digested
food is absorbed into the bloodstream.

38)a)The cell was taken from e plant. There isa vacuole, which only plant ceIIs have.
b)The cell wall

39)The muddy water evaporates due to the heat from the sun to from water vapour,
leaving the mud behind and condenses into tiny water.droplets when it comes into
contact with the cooler inner surface of the clear plastic cover, and falls back at the
comers of the solar still as pure water.

40)a)Beaker G has a constant rate of evaporation as its exposed surface area did not
change. However, beaker H's exposed surface areas increased.

NSRS

c)Put the set-ups under the sun/in the presence of wind.

41)a)The temperature of hot water.
b)The rate of condensation.
c)The hot water vapour which evaporates from the hot water.
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43)a)The volume of air decreased as it was compressed while the volume of water
remained the same as it could not be compressed.

b)No. it will not reach the mark ‘1’. Although the air in the syringe can be
compressed, it cannot be totally compressed as it occupies space, so the rubber
plunger tip cannot reach the mark *1’.

44)a)Cup D. 10 minutes.

b)He must use cup A. Since the temperature of the hot coffee was the highest at
the end of the experiment, material A is the poorest conductor of heat and therefore

will not conduct heat to the ice-cream so quickly, causing the ice-cream to stay cold
and not melit.
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